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202 Od4dl 1,000 1,200 A 200
01 = LH 4 Hl 1,000 1,200 A 200
OEEAERE Z2082Y% dl 1,000,000& 1,000
Ots=XN WA ItA XA 720 0 720
= 360
< 72
Al 288
202 044l 720 0 720
= 360
< 72
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05 SR W 720 0 720
Ou=0tl 720,000& 720
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ots=XE2 36,080 36,930 A 850
201 Let24d] 3,080 3,430 A 350
01 At 2teltl 3,080 3,430 A 350
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gAM 3= 70,000& = 74H 490
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O0tsd3 3= 70,000& * 18Y 1,260
202 (44l 1,000 1,500 A 500
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301 EEd = 2,000 2,000 0
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OXY0otsdE & OtS=SXAIE A XA
20,000& = 1009 2,000
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O=20d3Z 75,289,000 * 4.5% 3,389
02 20122 2,936 0 2,936
O=0H2AEE 75,289,000€ * 3.495% 2,632
O&I)E¥EEHE 2,632,000& * 11.52% 304
04 22X (LI HL)2 2D EBEIIBH=2S 1,996 0 1,996
O1nNESHNMMEE 75,289,000& * 2.65% 1,996
OlsS=2X WA IHA XK (2HH]) 133,407 130,577 2,830
= 66,704
& 13,340
Al 53,363
101 Q124 4] 117,159 130,577 N 13,418
= 58,580
& 11,715
Al 46,864
03 2 (RIHSY)Z22XE 117,159 130,577 N 13,418
OPIE==; 14,644 ,870& x 8H 117,159
= 58,580
= 11,715
Al 46,864
04 dAzEd=2S 16,248 0 16,248
= 8,124
= 1,625
Al 6,499
oHseg=2 6,618 0 6,618
O=0d=3 147,055,430 * 4.5% 6,618
= 3,309
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Al 2,647
02 201AH2dEE2 5,733 0 5,733
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= 2,570
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Al 2,056
Oy d 5,139,587 * 11.52% 593
= 297
= 59
Al 237
04 2R (RIH )22 4D BEEH2E 3,897 0 3,897
ONESNMMEE 147,055,430 * 2.65% 3,897
= 1,948
== 390
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o Mg ALY 56,2503 * 69 * 123 4,050
o IIE ¢ 480,000 * 6Y 2,880
o Mz A 87,500& » 69 =+ 123 6,300
ouwWEEXH| 37,500& * 69 * 123 2,700
o & =0yl 1,478,580 » 69 8,872
odzasxg 554,840& * 6Y 3,330
o Xl & && | 1,848,2403 » 69 11,090
ot ESFIIHEY 59,550& * 6% x 15 5,360
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HeH XK= 25,000 325,000 300,000
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